
 �����/LVWD�RğFHUöZ��PDU\QDU]\�
LbĝRïQLHU]\�RNUÚWöZ�HNVSORUDF\MQ\FK�-HM�
.UöOHZVNLHM�0RĂFL�ķ(UHEXVĵ�Lbķ7HUURUĵ��
NWöUH�Z\Sï\QÚï\�]b$QJOLL�ZbPDMX������
URNX�SRG�GRZöG]WZHP�NDSLWDQD�VLU�
-RKQD�)UDQNOLQD�.W�.&+�>NDZDOHUD�
2UGHUX�*ZHOIöZ@
/LVWD�]RVWDïD�VSRU]ÈG]RQD�QD�SRGVWDZLH�
RğFMDOQ\FK�VSLVöZ�]DPXVWURZDQLD�SR�
RGNU\FLX�WU]HFK�JUREöZ�QD�:\VSLH�
%HHFKH\D�Zb�����URNX��=DZLHUD� 
����QD]ZLVND��OHF]�RGQRWRZXMH��ĝH�
GZöFK�OXG]L�ZUöFLïR�GR�$QJOLL�MDNR�
QLH]GROQL�GR�VïXĝE\��FKRÊ�IDNW\F]QLH�
E\ïR�LFK�F]WHUHFK��FR�UHGXNXMH�OLF]EÚ�
RğDU�GR������

.LHG\�RNUÚW\�SU]\JRWRZ\ZDQR�Zb:RROZLFK�GR�Z\SUDZ\��DbGRZöG�
F\��-RKQ�)UDQNOLQ��)UDQFLV�&UR]LHU�Lb-DPHV�)LW]MDPHV��RWU]\PDOL�RğFMDO�
QH�SU]\G]LDï\��UR]SRF]ÚïD�VLÚ�X]XSHïQLDMÈFD�UHNUXWDFMD�]DïRJL��3HUVR�
QHO�+06�ķ(UHEXVĵ�Lb+06�ķ7HUURUĵ�SHïQLï�RNUHĂORQH�IXQNFMH��'RZRG]LOL�
G\SORPRZDQL�RğFHURZLH�ļ�ZbSRU]ÈGNX�UDQJ��NDSLWDQ��NRPDQGRU�LbSR�
UXF]QLN�ļ�NWöU]\�Z\NRQ\ZDOL�REOLF]HQLD� LbSRGHMPRZDOL�GHF\]MH��Z\�
GDZDOL�UR]ND]\�LbSURZDG]LOL�G]LHQQLNL��ZVSRPDJDQL�SU]H]�PïRGV]\FK�
RğFHUöZ�

������.DSLWDQ�VLU�-RKQ�)UDQNOLQ
:bZLHNX����ODW�VLU�-RKQ�E\ï�RbSRQDG�
G]LHVLÚÊ�ODW�VWDUV]\�QLĝ�LQQL�F]ïRQNRZLH�
HNVSHG\FML��3UH]HQWRZDQH�]GMÚFLH�QLH�
SRFKOHELD�PX��MDNR�ĝH�FKRURZDï�QD�
JU\SÚ��NLHG\�MH�]URELRQR�
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:LÚNV]RĂÊ�RğFHUöZ�SU]\G]LHORQR�ZbSRF]ÈWNDFK�PDUFD������URNX��
QD� GZD�PLHVLÈFH� SU]HG� GDWÈ�Z\Sï\QLÚFLD�� 6]HĂFLX� ]b QLFK� ļ�+HQU\�
/H�9HVFRQWH��-DPHV�)DLUKROPH��5REHUW�6DUJHQW�Lb&KDUOHV�'HV�9RHX[�
]bSU]\G]LDïHP�QD�ķ(UHEXVDĵ�RUD]�*HRUJH�+RGJVRQ� Lb-RKQ� ,UYLQJ�QD�
ķ7HUURUĵ� ļ� SU]HFKRG]LïR� ]b +06� ķ([FHOOHQWĵ�� DUW\OHU\MVNLHJR� RNUÚWX�
ÊZLF]HEQHJR�]b3RUWVPRXWK��:bOLĂFLH�GR�GRPX��RSXEOLNRZDQ\P�Söě�
QLHM�SU]H]�%HQMDPLQD�%HOOD��-RKQ�,UYLQJ�WDN�Z\MDĂQLDï�VZRMÈ�GHF\]MÚ�
Rb]JïRV]HQLX�VLÚ�GR�Z\SUDZ\��ķ'D�PL�WR�V]DQVÚ�DZDQVX�SR�SRZURFLH�
SR�GZöFK�OXE�WU]HFK�ODWDFK��DbZbNDĝG\P�UD]LH�EÚG]LH�MDNÈĂ�RGPLDQÈ�
Lb MHĂOL� XGD� VLÚ� ZUöFLÊ�� EÚG]LH� Rb F]\P� RSRZLDGDÊ�� Ļ([FHOOHQWĺ� MHVW�
EDUG]R�Z\JRGQ\��OHF]�WR�QXGQH�ĝ\FLH��Db3RUWVPRXWK�MHVW�SDVNXGQ\P�
PLHMVFHP��&KFÚ�F]HJRĂ�EDUG]LHM�SRGQLHFDMÈFHJR�QLĝ�WNZLHQLH�ZbSRU�
FLHĵ�� 1D� ķ(UHEXVDĵ� )LW]MDPHV� ZRODï� Z\ELHUDÊ� OXG]L�� NWöU]\� VïXĝ\OL�
]bQLP�MXĝ�SU]HGWHP�ļ�]ZïDV]F]D�ZbZRMQDFK�RSLXPRZ\FK�Zb&KLQDFK�
ļ�ER�]QDï�LFK�LbLP�XIDï�

������.DSLWDQ�)UDQFLV�&UR]LHU
-DNR�NDSLWDQ�+06�ķ7HUURUĵ��RNUÚWX��NWöU\P�ZF]HĂQLHM�
GRZRG]Lï�ZbDQWDUNW\F]QHM�Z\SUDZLH�-DPHVD�5RVVD��
)UDQFLV�&UR]LHU��OLF]ÈF\�VRELH����ODW��E\ï�]DVWÚSFÈ�GRZöGF\�
HNVSHG\FML��'R�WHJR�F]DVX�VïXĝ\ï�ZbWU]HFK�DUNW\F]Q\FK�
Z\SUDZDFK�3DUU\ĳHJR��&UR]LHU�SR]QDï�EOLVNR�URG]LQÚ�
)UDQNOLQD��NLHG\�HNVSHG\FMD�5RVVD�]DZLQÚïD�QD�7DVPDQLÚ��
JG\�VLU�-RKQ�E\ï�WDP�ZLFHJXEHUQDWRUHP�

������.RPDQGRU�-DPHV�)LW]MDPHV
-DPHV�)LW]MDPHV�PLDï����ODW�LbE\ï�Z\ĝV]\P�RğFHUHP�QD�
+06�ķ(UHEXVĵ��&KRFLDĝ�SRF]ÈWNRZR�QLH�P\ĂODï��ĝH�PRĝH�
WR�PLHÊ�]QDF]HQLH�GOD�WHM�PRUVNLHM�Z\SUDZ\��PöJï�VLÚ�
Z\ND]DÊ�GRĂZLDGF]HQLHP�]GRE\W\P�SRGF]DV�FLÚĝNLFK�
Z\SUDZ�OÈGRZ\FK�]bXĝ\FLHP�VSU]ÚWX�LQĝ\QLHU\MQHJR��JG\�
SUDFRZDï�QDG�SURMHNWHP�SU]HELFLD�GURJL�GOD�SDURZFöZ�
]b0RU]D�¥UöG]LHPQHJR�GR�2FHDQX�,QG\MVNLHJR�SU]H]�(XIUDW�
Lb=DWRNÚ�3HUVNÈ��

������3RGSRUXF]QLN�&KDUOHV� 
'H�9RHX[
%\ï�MHGQ\P�]bSLHUZV]\FK�RğFHUöZ�
SU]\G]LHORQ\FK�GR�HNVSHG\FML�Lb]QDOD]ï�
VLÚ�QD�OLĂFLH�]DPXVWURZDQLD�WHJR�
VDPHJR�GQLD����PDUFD������URNX��
FR�-RKQ�)UDQNOLQ�Lb-DPHV�)LW]MDPHV��
5HNUXWDFMD�WUZDïD�SU]H]�PDU]HF�
LbNZLHFLHñ�SUDZLH�GR�RVWDWQLHM�
FKZLOL��ERZLHP�NDQG\GDFL�GRïÈF]DOL�
GR�]DïRJL�MHV]F]H�QD�W\G]LHñ�SU]HG�
UR]SRF]ÚFLHP�Z\SUDZ\��FR�QDVWÈSLïR�
ZbPDMX��
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������3RGSRUXF]QLN�(GZDUG�&RXFK ������3RGSRUXF]QLN�5REHUW�6DUJHQW

������6WHSKHQ�6WDQOH\��OHNDU] ������3RUXF]QLN�-DPHV�)DLUKROPH
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.LHG\�RNUÚW\�SU]\JRWRZ\ZDï\�VLÚ�GR�Z\Sï\QLÚFLD�
Zb*UHHQKLWKH�QD�7DPL]LH��-DQH��ĝRQD�-RKQD�)UDQN� 
OLQD�� ]RUJDQL]RZDïD�QD� ķ(UHEXVLHĵ�ZL]\WÚ�GDJHUR�
W\SLVW\��ĝHE\�VIRWRJUDIRZDï�RğFHUöZ��'DJHURW\S�E\ï�
ZbRZ\P�F]DVLH�FXGRZQÈ�QRZLQNÈ��5LFKDUG�%HDUG�
QDE\ï�Zb�����URNX�SDWHQW�REHMPXMÈF\�$QJOLÚ�RG�
/RXLVD� 'DJXHUUHĳD�� IUDQFXVNLHJR� Z\QDOD]F\� WHM�
WHFKQLNL�bLbRWZRU]\ï�SLHUZV]H�Zb/RQG\QLH�SUDFRZ�
QLH�IRWRJUDğF]QH��&HQD�]D�Z\NRQDQ\�SU]H]�%HDUGD�
SRUWUHW�GR�SDVD�Z\QRVLïD���JZLQHÚ�����V]\OLQJöZ��
F]\OL������ IXQWD���Db]D�FDïÈ�SRVWDÊ���JZLQHH� �FR�
E\ïR�QLHPDïÈ� VXPÈ���1LH�ZLHP\�� F]\� ODG\�)UDQN� 
OLQ� ]DSïDFLïD� ZLÚFHM� ]D� SUDFÚ� QD� Z\MHěG]LH�� F]\�
WHĝ� GRVWDïD� UDEDW� ]b XZDJL� QD� ZLHONRĂÊ� ]OHFHQLD��
QLH�]QDP\�WHĝ�QD]ZLVND�IRWRJUDID�Z\VïDQHJR�WHJR�

GQLD��/DG\�)UDQNOLQ�]DPöZLïD�IRWRJUDğH����RğFH�
UöZ�ļ����]b+06�ķ(UHEXVĵ�RUD]�NDSLWDQD�&UR]LHUD�
]b+06�ķ7HUURUĵ��.RPDQGRU�-DPHV�)LW]MDPHV�RWU]\�
PDï� GRGDWNRZR� VZRMH� ]GMÚFLH� GOD� URG]LQ\�� &]DV�
QDĂZLHWODQLD� GDJHURW\SX� ZDKDï� VLÚ� Zb ]DOHĝQRĂFL�
RG�RĂZLHWOHQLD�RG�NLONX� VHNXQG�GR�SLÚFLX�PLQXW��
ZLÚF�Z]JOÚGQD�RVWURĂÊ�]GMÚÊ�VXJHUXMH��ĝH����PDMD�
�����URNX�E\ïR�VïRQHF]QLH��7DNĝH�QD�Z\SUDZÚ�]D�
EUDQR� DSDUDW� GDJHURW\SRZ\�� DE\� GRNXPHQWRZDÊ�
MHM�SU]HELHJ�

1D� NDĝG\P� ]b RNUÚWöZ� E\ï� QDZLJDWRU� ORGRZ\�
– ice master� ļ� NWöU\� PLDï� SURZDG]LÊ� QDZLJDFMÚ�
QD� DUNW\F]Q\FK� PRU]DFK�� %\OL� WR� OXG]LH�� NWöU]\�
]QDMRPRĂÊ� UXFKöZ�PDV� ORGRZ\FK� Lb XPLHMÚWQRĂÊ� 

�������3RUXF]QLN�+HQU\�/H�9HVFRQWH �������+HQU\�&ROOLQV��GUXJL�QDZLJDWRU
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 �������&KDUOHV�2VPHU��VNDUEQLN�LbUDFKPLVWU]
&KDUOHV�2VPHU�ZVWÈSLï�GR�5R\DO�1DY\�MDNR�XU]ÚGQLN�
Zb�����URNX��:LG]LDï�MXĝ�NRQLHF�3U]HMĂFLD�3öïQRFQR� 
�=DFKRGQLHJR�RG�VWURQ\�3DF\ğNX��MDNR�ĝH�XF]HVWQLF]\ï�
ZbUHMVLH�NDSLWDQD�%HHFKH\D�QD�+06�ķ%ORVVRPĵ��:\SUDZD�
]RVWDïD�Z\VïDQD�GR�&LHĂQLQ\�%HULQJD�GURJÈ�ZRNöï�SU]\OÈGND�
+RUQ�ZbQLHXGDQHM�SUöELH�VSRWNDQLD�VLÚ�]bGUXJÈ�HNVSHG\FMÈ�
OÈGRZÈ�-RKQD�)UDQNOLQD�Zb�����URNX�

 �������3RUXF]QLN�*UDKDP�*RUH
-DNR�RğFHU�SRNïDGRZ\�ZbZ\SUDZLH�NDSLWDQD�
*HRUJHĳDb%DFND�QD�+06�ķ7HUURUĵ�ZbODWDFK�����ļ�����
*UDKDP�*RUH�SU]Hĝ\ï�VWUDV]QÈ�]LPÚ�ZĂUöG�GU\IXMÈF\FK�
ORGöZ��3öěQLHM��Zb�����URNX��VïXĝ\ï�SRGF]DV�ZRMHQ�
RSLXPRZ\FK�Zb&KLQDFK��DbZbODWDFK������Lb����� 
EUDï�XG]LDï�ZbUHMVLH�HNVSORUDF\MQ\P�GR�$XVWUDOLL�QD� 
+06�ķ%HDJOHĵ��=QDï�VLÚ�QD�PDSDFK�LbSRWUDğï�U\VRZDÊ��
SRQDGWR�JUDï�QD�ĠHFLH�

Z\W\F]DQLD�QDMOHSV]HJR�NXUVX�ZĂUöG�SöO�ORGRZ\FK�QDE\OL�QD�VWDWNDFK�
ZLHORU\EQLF]\FK�� Db QLH�Zb VïXĝELH�5R\DO�1DY\�� -DPHV�5HLG� ]b $EHU� 
GHHQ��NWöU\�]DPXVWURZDï�QD�ķ(UHEXVDĵ��SU]H]�SRQDG����ODW�SLÈï�VLÚ�
SR�V]F]HEODFK�NDULHU\�PDU\QDUVNLHM�� ]DQLP�]RVWDï�X]QDQ\P�NDSLWD�
QHP�VWDWNöZ�ZLHORU\EQLF]\FK��7KRPDV�%ODQN\� ]b+XOO� QLH� W\ONR�E\ï�
ZLHORU\EQLNLHP�� OHF]� WDNĝH� XF]HVWQLF]\ï� SU]HGWHP� Zb Z\SUDZDFK�
EDGDZF]\FK��%\ï�F]ïRQNLHP�GZöFK�HNVSHG\FML�3DUU\ĳHJR��VïXĝÈF�QD� 
+06�ķ*ULSHUĵ�Zb�����URNX�LbQD�+06�ķ+HFODĵ�Zb�����URNX��0LDï�
WHĝ�]D�VREÈ�XG]LDï�ZbHNVSHG\FML�-RKQD�5RVVD�ZbODWDFK�����ļ������
NWöUD�WR�]DNRñF]\ïD�VLÚ�QLHPDO�WUDJLF]QLH�

�������-DPHV�5HLG�� 
QDZLJDWRU�ORGRZ\
-DPHV�5HLG�PLDï�F]WHUG]LHĂFL�
NLOND�ODW�LbE\ï�NDSLWDQHP�VWDWNöZ�
ZLHORU\EQLF]\FK�]b$EHUGHHQ��
NWöU\�XF]HVWQLF]\ï�ZbUHMVDFK�QD�
PRU]D�DUNW\F]QH�RG�����URNX�
ĝ\FLD��$GPLUDOLFMD�SRZRïDïD�JR�
GR�WHM�HNVSHG\FML��SRQLHZDĝ�PLDï�
GRĂZLDGF]HQLH�ZbĝHJOXG]H�SU]H]�
SROD�ORGRZH��1DSLVDï�GR�ĝRQ\��ķ/DG\�
)UDQNOLQ�]OHFLïD�VIRWRJUDIRZDQLH�
ZV]\VWNLFK�RğFHURP�SRGREQ\FK� 
LbPQLH�ZĂUöG�QLFK��ZbPRLP�
PXQGXU]Hĵ�
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